



Pampers Products

from Birth to Bedwetting











Swaddlers™

Helps keep baby comfortably dry all night long

Size	Child's Weight	# of Diapers per Case	UPC
Р3	<1.8 lbs <800g	8 pkg/32 ct = 256 diapers	98541
P2	<4 lbs <1800g	8 pkg/32 ct = 256 diapers	39798
P1	<6 lbs <2700g	12 pkg/20 ct = 240 diapers	04261
N	<10 lbs <4.5 kg	12 pkg/20 ct = 240 diapers	30374
1	8-14 lbs 4-6 kg	12 pkg/20 ct = 240 diapers	06729
2	12-18 lbs 5-8 kg	4 pkg/29 ct = 116 diapers	06555
3	16-28 lbs 7-13 kg	4 pkg/26 ct = 104 diapers	82843
4	22-37 lbs 10-17 kg	4 pkg/22 ct = 88 diapers	74958
5	27+ lbs 12+ kg	4 pkg/19 ct = 76 diapers	74959
6	35+ lbs 16+ kg	4 pkg/16 ct = 64 diapers	74961
7	41+ lbs 19+ kg	1 pkg = 44 diapers	79466
8	46+ lbs 21+ kg	1 pkg = 38 diapers	09756



Fragrance-free protection made with a soft outer cover and thoughtfully selected materials.

Size	Child's Weight	# of Diapers per Case	UPC
N	<10 lbs <4.5 kg	1 pkg = 76 diapers	59605
1	8-14 lbs 4-6 kg	1 pkg = 82 diapers	59606
2	12-18 lbs 5-8 kg	1 pkg = 74 diapers	CURRENT: 59607 NEW: 18865
3	16-28 lbs 7-13 kg	1 pkg = 66 diapers	59627
4	22-37 lbs 10-17 kg	1 pkg = 58 diapers	59643
5	27+ lbs 12+ kg	1 pkg = 48 diapers	59644



Easy Ups™

360° stretchy waistband for an underwear-like fit.

Size	Child's Weight	# of Diapers per Case	UPC
2T-3T	16-34 lbs 7-15 kg	4 pkg/25 ct = 100 pants	Girl: 76549 Boy: 76552
3T-4T	30-40 lbs 14-18 kg	4 pkg/22 ct = 88 pants	Girl: 76553 Boy: 76554
4T-5T	37+ lbs 17+ kg	4 pkg/18 ct = 72 pants	Girl: 76621 Boy: 76622



Ninjamas™

LockAway Channels absorb and distribute wetness quickly for powerful protection.

Size	Child's Weight	# of Nighttime Underwear per Case	UPC
S/M	38-70 lbs 17-32 kg	4 pkg/14 ct = 56 pants	Girl: 62797 Boy: 62798
L	64-95+ lbs 29-43+ kg	4 pkg/11 ct = 44 pants	Girl: 62802 Boy: 62804



Pampers® Sensitive™ Wipes

Designed to help maintain babies' naturally low skin surface pH.

# of Wipes per Case	UPC
12 pkg/36ct =	CURRENT: 17116
432 sheets	NEW: 16821



Made with 99% purified water and 1% of our gentle cleansers.

# of Wipes per Case	UPC
8 pkg/56ct = 448 sheets	75414

Pediatric Resources

Helpful tools and materials for healthcare providers and parents.



PooPee Analyzer

Give parents a better understanding of what to look for in their baby's diaper. The PooPee Analyzer is a free and easy-to-use tool that offers professional insights on what their baby's poo is telling them. All parents have to do is upload a photo, answer a few questions and they will receive an analysis from pediatricians.



Pediatric Tear Pad

Free to your Pediatrics Office, these tear pads provide helpful guidance through every step of the parenting journey.
From first-year milestone trackers to potty-training and bedwetting tips, the Pediatric Tear Pad offers a range of resources that covers the child's growth and development.

Available in 50-count tear pads.



Safe Sleep Coach App

Equip parents with the best tools and techniques to establish healthy infant sleep habits from day one. The Smart Sleep Coach App can create a custom sleep plan to support and improve the sleep of their baby.

Your patients can download the Pampers Rewards app and get access to Pampers cash,* rewards, parenting tips and much more!



Find these resources and more at Pampers.com